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General Instructions :

Read the following instructions carefully and strictly follow them :

(i) This question paper contains 33 questions. All questions are compulsory.

(it)  This question paper is divided into five sections — Section A, B, C, D and E.

(iti) In Section A — Questions no. 1 to 16 are multiple choice (MCQ) type questions,
carrying 1 mark each.

(iv) In Section B — Questions no. 17 to 21 are very short answer (VSA) type
questions, carrying 2 marks each.

(v)  In Section C — Questions no. 22 to 28 are short answer (SA) type questions,
carrying 3 marks each.

(vi) In Section D — Questions no. 29 and 30 are case-based questions, carrying
4 marks each.

(vii) In Section E — Questions no. 31 to 33 are long answer (LA) type questions,
carrying 5 marks each.

(viit) There is no overall choice. However, an internal choice has been provided in
1 question in Section B, 1 question in Section C, 2 questions in Section D and
3 questions in Section E. A candidate has to attempt only one of the
alternatives in such questions.

(ix)  Use of calculators is not allowed.

SECTION A

Questions no. 1 to 16 are Multiple Choice (MCQ) type Questions, carrying

1 mark each. 16x1=16

1. Which one of the following processes results in the production of

57/1/1

recombinants in future generations ?

(1) Mutation

(ii) Independent assortment during meiosis I
(iii) Independent assortment during meiosis II

(iv)  Crossing over of bivalents
(a) (1v) only
(b) (1) and (iv)
(c) (1), (11) and (i11)
(d) (@), 1), (i1) and (1v)
-~~~ Page 3 P.T.O.



2. = fou W sgawame fEuw § guie SER srEfidehgl W e WshH H
affad @ X, Hheet Y’ a1 THTeH 7’ i 9g=ng |

o
e X B Y TSITEH 7

(a) @HH & (o) FNTAT, TS

(b) IR T (p) Y, JTeA TR

(c) 3R fam (o) AT, JTA TS

d) 9 & (o) BT grelms

3. HHa "Hfte & s@feufa i = fu MU ame oy Tt g frefua forem
2

FHR
S
STH
(a) Hedl gHfte
(b) foor gafee
(¢c) TEI gAfe
(@) Torqea wafee

57/1/1 ~ o~~~ Page 4



2. Identify the region ‘X, the factor Y’ and the enzyme 7Z’ involved in the
process of transcription in prokaryote as shown in the schematic
representation given below.

3'ITM%WD\ AT e

/
y
Region X’ Factor Y’ Enzyme ‘72’

(a) Terminator Sigma (o) RNA polymerase

(b) Promoter Rho (p) RNA polymerase

(c) Promoter Sigma (o) RNA polymerase

(d)  Promoter Sigma (o) DNA polymerase

3. The status of the human population reflected in the human age pyramid

given below is :

Post-Reproductive

Reproductive

Pre-Reproductive

(a)  Declining population
(b) Stable population

(c) Expanding population
(d) Extinct population
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4. S fosm & foenfdi 3 3 TR (IE) &+ ST 981 9Tl U A & fafire
T | A oh AYATN H HTFSH o TR o (B hl ThA Hhich 1 UTH G
frefua foram | o1 H A fomg a1 # STeniyd S 7 i wlafte (foesi)
TIAT ! CIAT § ?

(a) fog @) (b)  foeg (i)
() Temg (ii) @ fog )
5. =l &y few MU | wGY I H SR UATRH! I 991 &9 11 H THEAET % YR

i T & TR 7 | FfaRaa foehedi ® § -1 foshed THTEHI 1 3 HEtUd
Jehlal H Hod bl T8l ®9 § TIdT 8 2

Ty I &y 11
(G5 (5%79)
P. <iwAU A i. T % BRI ¥ FfFaerssyd &
BT 8
Q.  IieEd TR i ST e T I i feriia
ESGIR
R. % Uicim iii. €uAT WUE il JeaT §
S. viiewd wefFaTd v, ey i fafdre Tuet W e @
faehe :
(a)  P-, Q-ii, R-iv, S-ii (b)  P-iv, Q-iii, R-ii, S-i
(¢)  P-, Q-iv, R-iii, S-ii (@  P-ii, Q-i, R-ii, S-iv
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4, The graph plotted below is based on the data collected by biology
students with respect to the levels of oxygen at the specific points in the
river flowing outside their city. Which point in the graph indicates the
entry of untreated sewage in the river ?

(a)  Point (1) (b)  Point (i1)
(c) Point (ii1) (d)  Point (iv)
5. Given below are two columns. In Column I is the list of four enzymes and

in Column II is the list of functions of the given enzymes. Which one of
the following options shows the enzymes matched with their respective
functions correctly ?

Column I Column I1
(Enzyme) (Function)
P. DNA Ligase i.  Removes nucleotides from ends of
DNA
Q. Restriction exonuclease ii. Extends primer on a DNA template
R. Taq polymerase iii. Joins the DNA fragments
S. Restriction endonuclease iv. Cuts DNA at a specific position
Options :
(a)  P-, Q-ii, R-iv, S-iii (b)  P-iv, Q-iii, R-ii, S-i
(c) P-i, Q-iv, R-iii, S-ii (d)  P-iii, Q-i, R-ii, S-iv
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o o o
o] odlth  odlth odlth

X 1 2 3
(a) 14dAT2 (b) 24913
() 149913 (d)  hdd Mk 3

RS shl e <hl TS o G99 H TTehideh aXU1 o JshH ohl Hal &1 § IRHTNG

T I Taehed &1 == hIfT

k- VN

(a) TARIHTRH IO — Fifeh e Ted dTd TSI%T b1 STl 90T Bial & |

(b)  Toemeh ST — Fifeh BT qAT A e ITA TSIBI BT LT BT & |

(c) fexrmeres awor — ife @t e ot TSRl <»1 90T B 2 |

() TARHRS O — il e hl HEIH ASs ol [SHIBI bl X0 sidl
g |
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6. Study the DNA profiles obtained as a result of DNA fingerprinting of a
child X’ and three individuals 1, 2 and 3. Which one of the following

options shows the possible parents of the child X’ ?
Child Individual Individual Individual

X 1 2 3
I =
| _- I
— |
I I
I ]
| |
— E—
| I
(a) 1 and 2 (b) 2 and 3
(c) 1and 3 (d)  Only individual 3
7. Select the option that gives the correct description of the process of

Natural Selection with respect to the length of the neck of giraffe.

(a)  Stabilising selection as giraffes with longer neck lengths are
selected further.

(b)  Disruptive selection as giraffes with smaller and longer neck
lengths are selected.

(c) Directional selection as giraffes with longer neck lengths are
selected.

(d)  Stabilising selection as giraffes with medium neck lengths are
selected.
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8. 3 fadhey &1 =9 HIGw EH 325 AN S (AT) HIRERIST
A ISITU[SI T3hH R S el TURTShUTT Shi T T Sl QI T ¢ |
(a) 325 (b) 650
(c) 1300 (d) 975

9. = @ wWw fieww § | ww 18 w) mifus gieat & 9w fow e § qen
w9 I # 39 IRei o i alehl ot guren T 8 | 39 fashed w1 WA
shifore fom mifaess FReAl 1 39 HEl & A1 FE @ ¥ guterd fohar
g

&y I &7y 11
(TG i) (7% &7 T
p. fawa qu i, TSIcHS I Hgr
Q. Heddrs 375 i, TSR | SRTORT S WEARIUfshaT
R. <9 & 9 3@ iii. TR IaT i vt i AIETE TG
S. Egell iv. Tter e ot et s wfaiel sEE
fashey :

(a)  P-i, Q-iv, Riii, S-i
(b) P, Q-ii, R-iii, S-iv
(¢)  P-ii, Q-i, R-iv, S-ii
(d)  P-iv, Q-iii, R-ii, S-i

10. f=afafea ° 9 form faee § s1a:@rE ufsr =1 39 g @fad g a7 T
% 1Y HE & 9 gHS fhAT T 7 2

Jra.amE! ufy B SEOR]
(a) | GTel HIfSTpTd | TEEAA feitres <ifites @eavnt w1 fohra
(b) | 19T TEISH Y FIU HI FHRHHA
(c) | Tlifen HI@RIC | TgioH S[RIVSTHA TSRl h1 SHRYA
) |T=SE Th.U4.Tq. qeehid faehrd o1 SEIUH LT &
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8. Choose the option that gives the correct number of pollen grains that will
be formed after 325 microspore mother cells undergo microsporogenesis.

(a) 325 (b) 650
(c) 1300 (d) 975
9. Given below are two columns. In Column I the names of four

contraceptive devices are given and in Column II the modes of action of
the contraceptives are given. Select the option where the contraceptive
devices are correctly matched with their respective modes of action.

Column I Column II
(Contraceptive devices) (Modes of action)
P. Lippes loop i.  Inhibition of ovulation
Multiload 375 ii. Phagocytosis of sperms in uterus
R. Subcutaneous iii. Causes thickening of cervical
Norplant mucous
S. Saheli iv. Makes cervix hostile to sperms
Options :

(a)  P-i, Q-iv, R-iii, S-i
(b)  P-i, Q-ii, R-iii, S-iv
(¢)  P-ii, Q-i, R-iv, S-ii
(d)  P-iv, Q-iii, R-ii, S-i
10. In which one of the following options does the endocrine gland correctly

match with its hormonal secretion and its function ?

Endocrine .
Gland Hormone Function
(a) | Sertoli cells Testosterone | Development of secondary sexual
characteristics
(b) | Placenta Estrogen Initiates secretion of milk
(¢c) | Leydig cells Androgen Initiates the production of sperms
(d) | Ovary FSH Stimulates follicular development
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11.

12.

iz qAT IR GRT 1972 § A AN ST & qaged Fuior #§ 3um fora

S STt S o
(a) & HloTs (b)  FTTTIT TTEEIGRITT
(c)  THIGFIRTH ST d) IfFerE gl

frafafga o @ e fafafadt favafoaer & fafeaar g & 9@ & v
(faferean) = foTu gedt o ST &1 Yewe e fou SIH =l gAw &t 2

(@) o 3 HSh (b) gt aaT Ry

(c)  Sf. JUpTUTeH (d) T AT HATRL

Yo7 &1 13 & 16 % 1o70, 51 %9 15T T & — [5/77 U 1 S4B (A) T T Bl

FRU (R) ZRT 371ed 1637 737 & | 37 3941 & T&l 3¢ 19 137 78 il (a), (b), (c) 3K
(d) 7 @ g7a7 v |

13.

14.

57/1/1

(a) TP (A) 3 SR (R) T Tal & 3 ST (R), AR (A) HI
g ST Ll & |

(b)  AfTHA (A) 3T HRU (R) THT T &, T RV (R), BT (A) H
& AT FgT Rt g |

(c) AR (A) HEl B, T BRI (R) TAd 7 |
d) R (A) TEd 8, T RV (R) T 2 |

3fpeT (A) : TELTU. i HH o Th WA i S04 ¥ & ITIR g AT Tha:
fftfa crefipriett o amies Faua W el (dfase) o
EECIR

FRU(R): IRV 3T 3 |

fpeT (A) : weft sen MR =wur (M) Uy FeRe wEwd d wd g, I8
TEHIAAT T Ichte 3ETE ¢ |

FROUT(R): 99 AR (M) U Feld 7 df d AEard i fFerd 8, ek o
3TH ¥ Hie It Fihad @ fie It @Td § 31e el @l
&1 AN TheT FAAT o 1T hicd BiaT |
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11. The organism used in construction of the first artificial recombinant DNA
by Cohen and Boyer in 1972 was :

(a) E.coli (b)  Salmonella typhimurium
(c)  Agrobacterium tumefaciens (d)  Bacillus thuringiensis

12. Who among the following challenged the patent right granted to the
University of Mississippi Medical Centre for ‘use of turmeric in wound

healing’ ?
(a)  Mr. Ajay Phadke (b) Ms. Vandana Shiva
(c) Dr. Venugopalan (d) Dr. R.A. Mashelkar
For Questions number 13 to 16, two statements are given — one labelled as

Assertion (A) and the other labelled as Reason (R). Select the correct answer to these
questions from the codes (a), (b), (c) and (d) as given below.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

13. Assertion (A): A patient of ADA deficiency undergoing treatment for
gene therapy requires periodic infusion of genetically

engineered lymphocytes.

Reason (R): Lymphocytes are immortal.

14. Assertion (A) : A cattle egret and grazing cattle in close association is a

classic example of commensalism.

Reason (R):  As grazing cattle move through the field, they stir up and
flush out insects from the vegetation that otherwise might
be difficult for egrets to find and catch.

57/1/1 ~SN~~ Page 13 P.T.O.



15. 374HI7 (A) : AT S # YUl o & A Yoy qoid: STH
form ST @ |

HRU(R): 38, UL qul o0 afl N-Uegfime i<l o 3 ¢ |

16. 3BT (A) : Ha@ FG ufern § i fowgpmedh (3E0mmfes) gt 7, Jafe
T argwh! (FHAe) 2§ |

HRU(R): el H, UG H Z q W o shidiE™ 9 9d &, Safeh - o
77 fom s 2 8 |

Qs @

17. = €U U fo3 § AFa YO o Tkt sl Teh STEEAT hl ST T & | $Heh
Tey ¥ fefafiga gt @ I e

() T ¥ o 78 9Ha Yoie 7w & 9g=H L 36 W fafau |
(@) U gfgen 6t M= gL #§ 3uehl dl afedfd i Ieai@ T |
() FEIfeRd X AT Y’ S W W | JcAh W Teh-Ush Yo faifgu | 2

18. (%) [efaepg T & sfiwve o fopm fo & o1 fopm TohR ot fctent yourehiy
T yfose Bt 2 2

(@) T AfcTept § IUfedd R shrgeh (A IHehi) o Ui & oo hioC | 2
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15. Assertion (A) :

Reason (R) :

16. Assertion (A) :

Reason (R) :

Endosperm 1s completely consumed during the

development of embryo in ex-albuminous seeds.

Castor, pea and beans are all examples of ex-albuminous

seeds.

Birds like pigeon have heterogametic females whereas the

males are homogametic.

In pigeons, females have Z and W sex chromosomes

whereas males have ZZ sex chromosomes.

SECTION B

17. The diagram given below shows a developmental stage of human embryo.

Answer the following questions with reference to it :

Y

(a) Identify and name the human embryonic stage shown.

(b) Mention its exact location in the normal pregnancy of a woman.

(c)  Write one function of each of the two parts labelled ‘X’ and Y’.

18. (a) From which end of the ovule, and how does the pollen tube gain its

entry into the embryo sac of a Hibiscus flower ?

(b) State the fate of the male nuclei present in the pollen tube.
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19. (%) () = foumu fa= o fafgd A 99n B S=A1eT ol 9g=E o b

Iy faRau
AN
(A) B)
/ \
(i)  SI-grEenfieh & fafis 5= § 39 78w 1 Soai@ shifau |
YT

(@) 38 TpH 6l AT HifT {SEeh gRI Teh SETv] IRt i 8 I
g fourdie SitA &1 gTed s & fou fggast eqeE 9o 9™ TeTa
(3= g e’ ST STl B |

20. Tfedfas fiifre (T wv) g6 aiifeufas o o o) § 9gaqul g=-1e Yo
Hd &, Tq 3l ot 58 Hmd 7 | aiiifeafas Tfust 1 ol @ et 6
Il ST |

21. Fd YW &F % forg™ & WRa fava 1 Aqar qe9 foune <o 2 | 396 YRa %

STt qen T & fthfad € | wwa 1 Jftr & fava o1 fekae ufasa @ 2 fw
fop mor @ Wi fava & 12 werfafaey <o § @ us 2 ? Seo@ iU |

@UE T

22. had FHCHS ARG hl TEREAT 9, b AR o (EcoRID) 3R SuAT AR

gfdeed TEIfaaTs i Tk g g Sieae o fmior & 9 =wen
SIS |
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19.

20.

21.

22,

57/1/1

(a) (1) Identify and name the structures ‘A’ and ‘B’ marked in the

image given below :

(A) B)

(i1) State their importance in various biotechnology experiments. 2

OR

(b) Explain the process by which a bacterial cell can be made
‘competent’ to take up foreign DNA from its surroundings, using
divalent cations and temperature treatment. 2

Ecological pyramids give important information about the ecological
system, but do have some limitations. List any two limitations of
ecological pyramids. 2

India is the seventh largest country in the world in terms of total land
area including land and water. Write the value of the land area of our
country (in terms of percentage) of the world. Mention then, what makes
India one of the 12 mega diversity countries of the world. 2

SECTION C

With the help of a schematic diagram only, show in three steps,
the formation of recombinant DNA by the action of restriction
endonuclease — EcoRI and DNA ligase. 3
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23. T o few 7o gumaeht =1 1 sregEA hifSw qun gefua =fafiad geai & I
AT

diet 1 S
q1er 11

- diel 1T

(%) = ¥ fou mu fomive gurelt 2 StoEm w2 SR 3T % THeN H
R ST |

(@) = ug fomwes stfenft @ Ivan fom-agers 2 o IR o Tmeda § SRy
i |

(@) fedta did 6 Fafa gen v qan 9 & avrfaa Serersy fafge |

24, (%) ‘WA BRI (YA HIRERET) & AT G |
(@) uFal 4 W SRR’ S Hal ¥ UTed fhAT S Hehdt 8 2
(T)  AHE W o ITER B TH DIREHIAT o g al A0 fAfgu |

25. (%) ToA (Afche) ofeg qor ged (fomms) srde | fawg i |

(@) geH g % o SUaH U 1 A fo

fTgeh ITeh! SATET <hilT |

26. IR/ T hHl HA TGNG M % (oY IHHT dMfed WA IFER HIF H
3U=R TR STaT B | 39 IU=R WhH % wed 1 ffafea it samen fifu
(%) At AUH (T)
(@) wfshiaa i
() IEHER A U (TARIfh Tl STEaieel)

27. (%) onygfe FH UMa (FAUE T % THE) o UH g RAFTO (JTEHH)
gatt o AW fAfan St e 15 fferem ad qd formm o |
(@) Shered "@iEdl & AR FegrenfI9ie Tone aHahe H 3R sl @
g ?
(M) & Ffaferg qen FA Haew o o9 Q@ AR fafau |
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23. Study the given pedigree chart and answer the questions that follow.

Gen I (Parents)

Gen II

Gen II1

(a) Is the trait given in the chart dominant or recessive ? Give reason in
support of your answer.

(b) Is this trait autosomal or sex-linked ? Give reason in support of
your answer.

(c) Write the possible genotypes of the children numbers ‘1’ and ‘3’ of
the second generation. 3

24. (a) Write the characteristics of ‘stem cells’.
(b) From where can one obtain ‘stem cells’ in humans ?

(c) State any two applications of ‘stem cells’ in curing human diseases. 3

25. (a) Differentiate between malignant and benign tumours.

(b) Name and explain the most feared property of a malignant tumour. 3

26. Treatment of wastewater is done in a sewage treatment plant to make it
less polluting. Explain the following with reference to this treatment
process : 3

(a) Primary sludge
(b) Activated sludge

(c) Anaerobic sludge digesters

27. (a) Name the two primate ancestors of the present day humans, who
existed approximately about 15 million years ago.

(b) According to geological records, when and where did
Australopithecines live ?

(¢) Give two differences between Homo habilis and Homo erectus. 3
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28.

29.
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(®) () ol yer St Tgres S99 SEfifeat & 3T 6 IH 9Tl 9
dehtent o fAferRaa wfere w9t o1 faear Hifsre -
(1) SIS.37%.TH.3.
(2) oTE..TH.37%.
(3) Ime.g.73
(4) Sf.3TR.TH.A.

(i) 39w ° ¥ fopm qeniiep (Aieh) @t 9T 8= &1 91 S Feha ?

I I o a9 | Hrvr fafgn |

T
(@) W=fdiEa | favg i
(i)  IRYEIY q BeAIT
(i)  Fehredt qdT Togwiedt Sieher
(iii) ST qAT AP

Qs Y

Teh hITSTehT O W S 319 37T bl TIEH/TATZH o &9 H 3Tk Hdl 2 | Th
HIfRT T & ST 1 el wa 3R H G g I ATEIIhal it 7, qdl
Ueh 3THHehrgeh! ISR dF H S hl 3AfSsafs 1 FEma &8 gar 8, 39
A SNFHRAI S g e Wﬁlﬁﬁ?{ SharaTH Siehel o TI<h ATEl
g for T | F Fiord U e IUTIRE W 3 g Uiquiied ‘ol TeTeieh
(e7% UTH) TeheudT & oI 378 1965 H ot JWEHR & FrHTHG fobanm T |
(F) &% YA (7% SUTH) ol Ao i 0 =11 gl SI1ar 3 2
(@) g Il g fob “SHam IR § &% TaTcish shl ANARR TAH
e = W R s+t et 3 17 oM ot =mnfaa fag i |
(M) % T d fames ST @ G (3mE)’ Sfim % wu ° fafga @i foeen

ST 8 2
(") Sfiam & @a9q Aread § St i AU § &% S=Ieieh 1 ATSHIcHS
3RE@ FATST |
AT
(") SHaT] o Hagq HTeAH | Uik i IUREAfd H ¢ UdTereh Wl ANSHICH
3@ ST |

~ PagtaZO

o |~

o |~



28. (a) () Expand the abbreviations given below, used for different
modes of assisted reproductive technologies : 2
(1) ZIFT
(2) ICSI
3) IUT
(4) GIFT

(ii) Which one of them cannot be considered as a procedure of
IVF ? Give reasons in support of your answer. 1

OR
(b) Differentiate between the following : 3

(i)  Perisperm and Pericarp
(i1) Syncarpous pistil and Apocarpous pistil

(111) Plumule and Radicle
SECTION D

29. Gene expresses itself in a cell system as a protein/enzyme. How does an
expression of gene occur in a cell system and when does it need to
occur, and how the gene expression is regulated in a prokaryote cell
system was studied by the combined efforts of Jacque Monod, the
biochemist and Francois Jacob, the geneticist. For their work on lactose
metabolism in E. coli and introducing the concept of “lac operon” they
were awarded the Nobel Prize in 1965.

(a) Why is lac operon said to be a transcriptionally regulated system ? 1

(b) It is said that “the lac operon has to be operational at a very low level

in the bacterial cell all the time.” Justify. é
(c) Why is the regulator gene in lac operon marked as 9’ gene ? é
(d) Draw a schematic diagram of lac operon in absence of inducer in the
culture medium of the bacteria. 2
OR
(d) Draw a schematic diagram of lac operon in the presence of inducer in
the culture medium of the bacteria. 2
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AR
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qen g sror ot ferflau |
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rera
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(v) 3 g et e Ty fafau |
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30.

31.

57/1/1

Study the diagrammatic representation given below of the Earth with
regions marked ‘A’ and ‘B’ respectively. Answer the questions that follow.

(a)

(b)

(b)

(a)

EQUATOR

Write the observations made regarding the species diversity when

moving from region ‘A’ to region ‘B’. Give two reasons also.

Stating the reason, mention the approximate number of bird species
recorded in India.

OR

Name the region in the world that records the greatest biodiversity
and mention why.

SECTION E

Meselson and Stahl carried out an experiment to prove the nature of
DNA replication. Recall the experiment and answer the following

questions.

(i)  Which two types of nitrogen were used by them in their
experiment and why ?

(ii1) Why did they take samples of E. coli at definite time intervals
for their observation ?

(i1i) State the role of caesium chloride density gradient in their
experiment.

(iv) Write the conclusions they arrived at.

[ o 2o ~2o 4

OR

Page 23

3

P.T.O.



(@) () Uh dgU-ISHA GH HE % WA SIS a1l os 919 hl HE % A
laR S a1ct 419 % |19 G0 HUA T | 39 1€ Hl F, e
s FEu e S swas: By 9o F, d€ % diEresd
(TTITET) LI <hl ST T & |

(i) Hed o 39 fm = gy 59 sad 39 TR & HE & MR
g gfaurfea feram S @ehat 3 |

32. (%) TR YA &= o 9 o TUF & 3Gh 10 IY hl 37Y H B dh Th
qUIASG SehTohiul hidshd () o1 e forar Smar 2 | = s e
T H SRRl & JUTE ohl RIAT T 3 | SEH SRl o I9d I
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et WIS GRIT YH: FshUl

EIhTehtl o qgaTq a9 (Tt o)

(i)  JThTRT & RO fRef st i "rgar H Jhg F B 7 2
ST T |
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(b) (i) A true breeding tall pea plant with round seeds is crossed with
a recessive dwarf pea plant having wrinkled seeds. Work out
the cross up to F, generation giving the phenotypic ratios of

F; and F, generation respectively.

(ii) State the Mendelian principle that can be derived only with the

help of such a cross.

32. (a) A time-bound vaccination programme is followed for the children in
our country from their birth up to ten years of age. A graph plotted
below shows the effect of the vaccination followed by infection by the

same pathogen, and the antibody concentration in the blood of the
child.

Antibody concentration in Blood

Reinfection with same pathogen

Vaccine is administered here

Days after administration of vaccine

(i) Explain why the administration of a vaccine causes an

increase in the antibody concentration.
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(i1)

i IR 418 & 91 9= ! IH WS T ThAY & AT &, o

Th H wiRefl st s draar 9gd diedl 8§ Sedt 8 | Sane
hifSre fop Tam =11 B | |

(iii)
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(2) | UTehiceh, TAfSsha &l R T 3
IR
Y FIU h
(3) | 3utfSia, dfsha ‘@ i AT A
(i) &
TfeReT STugaTi
(4) | 3ufSta, Mt o BEd| EIRECNE]
(ST )
T
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(ii)
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(b)

(i1) If the child is infected with the same pathogen almost four

months later, the antibody concentration in his/her blood

increases very fast. Explain why.

(iii) A table given below gives information about different types of

immunity and how they are attained. Identify ‘P’, ‘Q’, ‘R’, ‘S’

and ‘T’ in the table.

. Presence
. Type (?f Prod1.1ct10.n of memory Mode attained
immunity | of antibodies
cells
(1) | Natural, Yes ‘P ‘QY
active
(2) | Natural, No R Across the
passive placenta  during
pregnancy/breast
feeding
(3) | Acquired, S Yes Getting a vaccine
active during breast
feeding
(4) | Acquired, T No Getting an
passive injection of
antibodies
OR

(i)  What is the chemical name of ‘smack’ ? Why is the consumption

of smack considered as an abuse ?

(ii) Name the source plant and one effect of the following drugs on

the human body :
(1) Marijuana
(2)  Cocaine

(3)  Morphine
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33. (%) = fou U @i # WM o alieni I R TN B | 3HE HEidd QU

O ® 0

(i) 39 T § el H TSI ok TAMTAROT Shi oA fafert =t gerian
TR | SEH Ewis e 1, 2 dun g faRel & fa sw feu S
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33. (a) Study the diagram given below showing the modes of pollination.
Answer the questions that follow.

) ® 0

(i) The given diagram shows three methods of pollen transfer in

plants. What are the technical terms used for pollen transfer

methods ‘1’, 2’ and ‘3’ ?

(ii) How do the following plants achieve pollination successfully ?
(1) Water lily
(2)  Vallisneria

(iii) Flowering plants have developed many devices to avoid
inbreeding depression. Explain one hereditary and one

physiological device which helps plants to achieve this target. 5

OR
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(@) U OM= OHd Sff & 31dd =3k i = fa gro gt e 2 | sEeht
Y&IuT shteh feu U Heferd TeAt & I i

Jfehd T 3TTda =I5k o fea@l ! 3d Ll @

o

() F=faRaa & foru sgfea afoafys sreg o= 8 2
(1) feam1-7
(2) Team 8-12
(3) feam 1628
(4) feam 13-15

(i) TrfaRad safa o SfemRl gHM qun Wiy g i
1 =TT HINT
(1) feaw 8-12
(2 fm@13-15
(3) feam 1628
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(b) Observe the diagram given below showing the menstrual cycle of a

normal human female and answer the questions that follow :

e

21 8 |1

18 11
17 12
16 [15 [14\13

Numbers indicate the days of the menstrual cycle

(i) What are the suitable technical terms used for the following ?
(1) Days1-7
(2) Days 8- 12
(3) Days 16 — 28
(4) Days 13- 15
(ii)  Explain the role of ovarian and pituitary hormones during the
following time periods :
(1) Days8-12
(2) Days13-15
(3) Days 16— 28
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